CHAPTER 15 – Algebra 2 – Selected Answers “Evens”

p.1
Section 15.1 (p.711)

Oral Ex/ 1. 27  2. 16  3. 35  4. 27  5. 40  6. 32  7. 20  8. 32 & 40 both modes
Written Exercises
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6a. 61  b. 58  c. 54  8a. 168  b. 151.5  c. 149.4  10a. 14.31  b. 13.89  12a. 25  b. 25  c. 23.25

14. 180  16. Each would be reduced by 40%  18. Either M1 = M2 or m = n
Section 15.2 (p.716)

Oral Ex/ 1. 25  2. 20  3. 37  4. 29  5a. lowest value, 50  b. 1st Quartile, 60  c. Median, 75 
d. 3rd Quartile, 85  e. highest value, 100  6. 1  7. 2  8. same  9. 2  10. 2  11. 2  12. 2  13. 2  14. The data in distribution A is more spread out from the mean.

Written Exercises

2a. 78  b. 69  c. 86  d. 36  4. [image: image3.jpg]4.
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 6. 1  7. 2  8. 2  

10a. 5.3  b. 2.7  c. 17.5  12a. 52  b. 1205.7  c. 34.7  14a. 43  b. 16.3  c. 4.0  

16a. 70  b. 36  c. 6  18. both are doubled  20a. 1, M is lowest and 
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 is largest 

b. 4, 
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 is smallest  c. 2 or 3, both have mean equal to the overall mean and their standard deviations are ‘average’.

Section 15.3 (p.722)

Oral Ex/ 1. about 1/5  2. 24%  3. about ½  4. 0.5  5. 38.3%  6. 2

Written Exercises

2. 15.86%  4. 99.74%  6a. 0.13%  b. 15.87%  c. 2.28%  d. 0.06%  8a. 2.28%  b. 8.08% 

10. The total area under the standard normal curve is 1.  12a. 0.3989  b. 0.2420  c. 0.0540 

Section 15.4 (p.727)
Oral Ex/ 1a. positive  b. negative  2a. weak  b. strong  c. weak  d. strong  

3a. positive  b. negative  c. positive  d. close to zero  e. positive

Written Exercises 

 2. high negative correlation [image: image6.jpg]8 8

(spuesnoy: ur)
Plog 9quiny.

105 110

100

95

Median Price
(in thousands of $)



 4. positive  [image: image7.jpg]g

(20/$) whupelg

=

440 480

Gold ($/0z)

400



 
CHAPTER 15 – Selected Answers “Evens”


p.2
Section 15.4 (continued) - Written Exercises
6a. –0.95  b. y = –8.02x + 15.02.98  8. 
[image: image8.wmf]2

3

4

 weeks  10. $8850  12. Mental age and height both increase with age; they are not causally related. 
Section 15.5 (p.731)
Oral Ex/ 1. 10  2. 6  3. 7  4. 26  
Written Exercises

2. 40  4. 75  6. 120  8. 59,049  10. 60  12. 125  14. 405,600  16. 11  18. 65,536  20. 8315
Section 15.6 (p.736)
Oral Ex/ 1. 120  2. 10  3. 120  4. 6  5. 24  6. 720  7. 9900 8. 1  9. 6  10. 3  11. 24  12. 12 

Written Exercises

2. 360  4. 56  6. 20  8. 1680  10. 40,320  12. 840  14. 60  16. 3024  18. 60  20. 1,663,200 
22. 20  24. 1260  
26. 
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28. 
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  Combine with the LCD of (n – r + 1)!
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30. 19

Section 15.7 (p.739)
Oral Ex/ 1. permutation  2. combination  3. permutation  4. 5  5. 35  6. 6  7. 15
Written Exercises

2a. 
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1,3,5,1,3,7,1,5,7,3,5,7

 b. 
[image: image15.wmf]{

}

{

}

{

}

{

}

{

}

{

}

{

}

3,7,5,7,1,3,5,1,3,7,1,5,7,3,5,7,1,3,5,7


4. 6  6. 35  8. 36  10. 4950  12a. 7  b. 35  c. 21  14. 3,921,225  16. 70  18. 210  20. 5400 

22. 231,192  24. 1,063,348  26. 180 

28. Let’s start on the left side. 
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Now to combine these, we’ll use the LCD of (n – r)! r! Okay, I see the r! So we’ll definitely multiply the left fraction by ‘r’ (top and bottom…). The left factor of the left denominator simplifies to: (n – r)! so we just need to multiply the right denominator by
 (n – r) top and bottom.  
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     Q.E.D.
30. For each of n members, there are 2 choices (in or out). Hence 2n subsets. (?)
CHAPTER 15 – Selected Answers “Evens”


p.3
Section 15.8 (p.
Oral Ex/ 1a. 
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2a. 
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Written Exercises
2. 
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}

(1,5),(2,4),(3,3),(4,2),(5,1)

  

4. 
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}

(3,6),(4,5),(4,6),(5,4),(5,5),(5,6),(6,3

),(6,4),(6,5),(6,6)

 
6. 
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}

(2,1),(3,1),(4,1),(5,1),(6,1),(3,2),(4,2

),(5,2),(6,2),(4,3),(5,3),(6,3),(5,4),(6

,4),(6,5)


8a. 216  b. 
[image: image27.wmf]{

}

(1,1,1),(2,2,2),(3,3,3),(4,4,4),(5,5,5),

(6,6,6)

  c. {
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,


[image: image30.wmf](3,1,5),(3,1,6),(3,2,6),(4,1,6)

}  10. {(1,2),(1,3),(1,4),(1,5),(1,6),(2,3),(2,4),(2,5),(2,6), 

(3,4),(3,5),(3,6),(4,5),(4,6),(5,6)}  12. {(3,1),(4,2),(5,3),(6,4)}  14. {(2,1),(4,2),(6,3)} 

16. {(2,2),(2,4),(2,6),(4,2),(4,4),(4,6),(6,2),(6,4),(6,6)}

Section 15.9 (p.748)

Oral Ex/ 1. 1/16  2. ½  3. 1/8  4. 3/16  5. 1  6. ¾  7. 3/8  8. 0  9. 1/6  10. 1/6  11. 0

Written Exercises

2a. 3/8  b. 5/8  c. 5/8  d. ½  4a. 1/13  b. ¼  c. ½  d. 1/52  e. 1/26  f. 0  

6a. 5/11  b. 17/22  c. 1/22  8a. 1/12  b. 1/6  c. 5/18  d. 11/36  10a. ½  b. ¼  c. ¼  

12a. 1/17  b. 1/221  c. 25/102  d. 19/34  14a. 0.0359  b. 0.1151  
Section 15.10 (p.758)

Oral Ex/ 1a. {a,c,d,e,f,g,h}  b. {c,d}  c. {a,c}  d. 
[image: image31.wmf]Æ

  2a. 1/3  b. 5/6  c. 1/6  d. ½  

3a. yes  b. no  c. no  d. yes  e. no  f. no  4a. dependent  b. independent  c. dependent  

d. independent  5a. independent, ¼  b. dependent, 1/3  

Written Exercises

2a. ½  b. 7/10  c. 1  4a. 3/32  b. 9/64  6a. {(1,H),(2,H),(3,H),(4,H),(5,H),(6,H), (1,T),(2,T),(3,T),(4,T),(5,T),(6,T)}  b. A = {(5,H),(6,H),(5,T),(6,T)} 

B = {(1,H),(2,H),(3,H),(4,H),(5,H),(6,H)}  
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U

= {(1,H),(2,H),(3,H),(4,H),(5,H),(6,H),(5,T),(6,T)}  
[image: image33.wmf]AB

I

= {(5,H),(6,H)}

8a. 1/221  b. 1/221  c. 2/221  10a. 1/169  b. 1/16  12. 0.67  14a. indep.  b. indep.  c. dep. 

16a. 0.39  b. 0.26  c. 0.21  d. 0.79  

Chapter 15 Review (p.764)

2. c    4. b    6. d    8. c    10. c    12. d  

Chapter 15 Test (p.765)

1. 25,25,24  2. 45, 7  3. 4/25  4. high negative correlation  5. 68  6. 120  7. 4  8. 70 

9a. {(1,1),(2,2),(3,3),(4,4),(5,5),(6,6)}  b. {(1,3),(2,2),(3,1)}  10a. ¼  b. 1/13  c. 2/13 

11a. 7/12, ¼ , 1/12 , ¾   b. no, no 
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